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(2022) PASS H12-811 exam with Huawel H12-811 Real Exam Questions Real exam questions are provided for
HCIA-Datacom tests, which can make sure you 100% pass QUESTION 188

The origin of SDN is the separation of transfer and control. The separation of transfer and control isaway to realize SDN, not the
essence.
* True
* False

QUESTION 189
The IP addresses of the VLANIF interfaces of the same switch cannot be the same.

* True
* False
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QUESTION 190

Therole of the collaboration layer in the SDN architecture is to complete job deployment based on user intentions. OpenStack
belongs to the business collaboration layer.

* TURE

* FALSE

QUESTION 191

The Layer 2 switch isadatalink layer device, which can identify the MAC address information in the data frame, forward data
according to the MAC address, and record these MAC addresses and corresponding port information in its own MAC address table.
* True

* False

QUESTION 192

Which statement is wrong about the ARP message?

* ARP reply packets are sent unicast

* Any link layer protocol requires ARP messages to assist in obtaining datalink layer identification
* ARP packets cannot be forwarded to other broadcast domains

* ARP request message is sent by broadcast

QUESTION 193

Which of the following types of addressesis not included in |Pv6 addresses?
* Anycast address

* Broadcast address

* Unicast address

* Multicast address

QUESTION 194

Which statement about SNMP protocol is correct?

* SNMP uses UDP as the transport layer protocol

* SNMP uses ICMP as the network layer protocol

* SNMP protocol uses multicast to send management messages

* The SNMP protocol only supports the sending of flash management messages on the Ethernet link

QUESTION 195

The load sharing mode at both ends of the Eth-Trunk can be inconsistent.
* TRUE

* FALSE

QUESTION 196

When the Access type port sends a message, it will ().

* Send messages with tag

* Strip the VLAN information of the message, and then send it out
* Typethe PVID information of this port, and then send it out
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* Add the ZLAN message of the message, and then send it out

QUESTION 197

The correct description of the information as shown in the figureis ().

[R1]display interface go/0O/o

GigabitEthernet0/0/0 current state: Administratively DOWN Line protocol current state: DOWN
* The GigabitEthernet 0/0/0 interface was manually closed by the administrator

* GigabitEthernet 0/0/0 interface does not enable dynamic routing protocol

* The GigabitEthernet 0/0/0 interface is not configured with an |P address

* GigabitEthernet 0/0/0 interface is connected to a wrong cable

QUESTION 198

The administrator wants to configure a hundred | P address on the GO/0/0 interface of the router, then which of the following
addressesiis correct?

* 192.168.10.112/30

* 237.6.1.2/24

* 127.3.1.4/28

* 145.4.2.55/26

QUESTION 199

What is the full name of the general routing platform VRP?
* Versatile Redundancy Platform

* Versatile Routing Protocol

* Versatile Routing Platform

* Virtual Routing Platform

QUESTION 200

FIT AP can work independently without relying on AC.
* True
* False

QUESTION 201

What is the role of the command port trunk allow pass vian al?

* |f the port default vian 3 command is configured for the connected remote device, VLAN 3 cannot communicate between the two
devices

* All VLAN data frames are allowed to pass through this port

* The connected peer device can dynamically determine which VLAN IDs are alowed to pass

* The opposite port connected to the port must be configured with port trunk permit vian all

QUESTION 202

What is the destination | P address of the DHCP DISCOER message?
* 127.0.0.1
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* 224.00.1
* 224.0.0.2
* 255.255.255.255
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